Soustraction Avec Des Zéros (1)

100
-12

10 000
-1439

1000
- 544

100
-77

100
-22

1000
- 986

1000
-179

Calculez la différence.

100 100

- 27 - 27
100 1000
-9 - 362

10 000 100
-3 041 - 38
100 1000

- 45 -79
100 10 000
-79 - 968
1000 1000
-214 -425
100 10 000
-14 - 5499

1000
- 160

1000
- 280

10 000
-5120

1000
-458

100
-77

1000
-601

100
-31
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Soustraction Avec Des Zeéros (I) Réponses

100
-12

88

10 000
-1439

8561

1000
- 544

456

100
-77

23

100
-22

78

1000
- 986

14

1000
-179

821

Calculez la différence.

1000
- 160

840

1000
- 280

720

10 000
-5120

4 880

1000
-458

542

100
-77

23

1000
-601

100 100
- 27 - 27
73 73
100 1000
-9 - 362
91 638
10 000 100
-3 041 - 38
6 959 62
100 1000
- 45 -79
55 921
100 10 000
-79 - 968
21 9032
1000 1000
-214 -425
786 575
100 10 000
-14 - 5499
86 4 501

399

100
-31

69
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